R L, E 20 EERRE 2024/4/18 24 : AR/
2DODEMANZ FbatbFa=(1,1,2) 2 b=(-1,2,1) LED 3.

(1) at bDRFTHO0<0<7)ZKDX.
(2) a& b TROND PATHUAF DM S 23K XK.
(3) RZ Px=a+tb BT FL(-1,0,1) L ERXT S L &, Ft DEHZKD X.

(1) zyz-ZERIPICHBWT, K (—2,1,0) Z@ D, HAXZ blra=(1,2,-1) 2 DEME L OJTENRZ

ko k.
(2) zyz-ZEHEINICB VT, /K(2,-1,1) Z@ D, TR Z Fn = (—1,2,2) 2 & DFH H OJ/iEX%
ko k.

(3) ¢ ¥ H DR DEREZERD X.

ZOoDRZ Mlra=(1,-1,2) £ b=(1,2,1) DKRTHD gn WWHELVWE E, 2 DfEZRD X.

2DODEMANZ Fbatb®a=(-1,43)b=(1,22) ¥T5%.

(1) #Mfa x b EKD K.
(2) a & b TIROENZ FATILIEOHE S 23K X.
(3) zyz-ZEMEIMICBWVT, /i (2,1,—1) 2D, a & b I HTRFHE H 02 KD K.

S 0 (0<0<n/2) BRDE.

Tz 2y +2=0LEM o+ 1=y+5=

(6] zy2-Z2fND 3 £ A1, —2,3), B(2,-3,5), C(3,-5,7) &t 5.
(1) ZZBIRZ Flx Ly %, x=AB Ly = AC £ 5. SMilix xy ko &
(2) A, B,C %382 VH H DIERER7 vz —>252 K.
(3) HDFRERERD X,

Ofi%

(1] @) 6=x/3 (2) S=3v/3 (3) t=-1/2

(2] (1) x+2=y%1:—z (2) —z+2y+22=-2 (3) (x,y,2) = (—8,—11,6)
(3] =2

(4] 1) axb=(2,5-6) (2) S(=laxb])=v65 (3) 2z+5y—62—15=0
Blo=3-3=%
(6] 1) xxy=(2,0-1) (2) (2,0,-1) (3) 20—24+1=0
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